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Question: 1

An SMB customer plans to expand its business nationally. Its requirements are:
¢ aweb-based intranet for its mission-critical applications

¢ |low maintenance

¢ fast deployment

How will an HPE HyperConverged solution meet this customer's needs?

A. It is pre-tested and factory integrated with a hardware-centric architecture.

B. It is a blade-chassis solution pre-configured and optimized for big data workloads.
C. Itis purpose-built and optimized for collaboration workloads.

D. Itis an integrated appliance-based solution optimized for cloud services.

Answer: D

Question: 2

DRAG DROP

An HPE customer with a traditional IT infrastructure plans to optimize operations by implementing
an HPE Composable Infrastructure.

Use the arrows to move the description of the steps of the implementation process on the left into
the proper implementation order on the right.

Steps Implementation Order

Simplify deployments

Simplify Infrastructure as a
Service

f Improve staff productivity

Answer:

Improve Staff Productivity
Simplify deployments
Simplify Infrastructure as a Service

Question: 3

What is the primary difference that distinguishes OLAP from OLTP?
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A.

OLAP applications must be responsive to handle many users interacting with each application in real
time, while OLTP applications do not.

B.

OLAP applications perform small, simple insert/delete operations on structured databases, while
OLTP applications do not.

C.

OLAP applications typically have high performance demands because they support mission-critical
applications, while OLTP applications do not.

D.

OLAP typically works with large datasets for a longer period of time, while OLTP datasets tend to be
smaller and contain real-time data.

Answer: D

Question: 4

Which design area presents a unique challenge to architects when planning and implementing a VDI
solution?

A. over-subscription

B. multi-media performance
C. storage cost

D. data encryption

Answer: C

https://www.certkillers.net




Questions & Answers PDF Page 4

Thank You for trying HPE2-T33 PDF Demo

To Buy Latest HPE2-T33 Full Version Download visit link below

https://www.certkillers.net/Exam/HPE2-T33

Start Your HPE2-T33 Preparation

[Limited Time Offer] Use Coupon “CKNET” for Further discount
on your purchase. Test your HPE2-T33 preparation with actual
exam questions.

https://www.certkillers.net




